#916179 Page 1 of 1

PARTS LIST FOR #6179
UPPER A-ARM STAINLESS FOR STREET MACHINE

NO. OTY PARTNO. DESCRIPTION
1. 1 5024 Driver's upper A-arm stainless steel
2. 1 5025 Passenger’s Upper A-arm stainless steel
3. 4 1651 Eyebolt 5/8-18 with plastic bearings
4. 4 1652 Pivot stud .75 x 2.50 x 5/8-18 stainless
5. 4 3248-2 Polished 5/8-18 right hand 18-8 stainless
6. 4 3632 Oval point 5/16-18 x 3/8 set screw

Refer to your Installation Guide for assembly procedure.

Revision Date: May 14, 2003

HE HOME OF HIGHER TECHNOLOGY

([Chassisworks

#916179 Page 1 of 1

PARTS LIST #6179
UPPER A-ARM STAINLESS FOR STREET MACHINE

NO. QOTY PARTNO. DESCRIPTION
1. 1 5024 Driver's upper A-arm stainless steel
2. 1 5025 Passenger’s Upper A-arm stainless steel
3. 4 1651 Eyebolt 5/8-18 with plastic bearings
4. 4 1652 Pivot stud .75 x 2.50 x 5/8-18 stainless
5. 4 3248-2 Polished 5/8-18 right hand 18-8 stainless
6. 4 3632 Oval point 5/16-18 x 3/8 set screw

Refer to your Installation Guide for assembly procedure.

Revision Date: May 14, 2003

([Chassisworks

THE HOME OF HIGHER TECHNOLOGY




	PARTS LIST FOR #6179 
	UPPER A-ARM STAINLESS FOR STREET MACHINE 
	PARTS LIST #6179 
	UPPER A-ARM STAINLESS FOR STREET MACHINE 

